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UNIT—I

1. Read the passage given below carefully and
answer the questions that follow :
One common mistake that many people have
made is this : they have thought that it would
be a very good thing if everybody hag exactl
the same amount of money, no mattez
whether they worked hard or liveq quite idl
They forget that very few people would r%{
at all if it were not for the mgpe e
. y their work
brings them, and that without work there
would be no money. And th b d
that if all the money ; = have igEdi
Y In the country wer€
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equally divide
. Now that is

*, there sj .
' éw‘zcr;bzlg;:ply p ot enough money to make
round, everlc - If it were shared equally all
. ’the'céiculartjjmne then would, on the basis of
about Rs 6,.50ns made in 1935, receive only
a year. Today with a rise in the

Price Jit mi
. 1evel it might be Rg 150 a year. That

really rich TWOulf:l Certainly not make you
should like t.oere 'S one final mistake that I
imagine that :;.am you against. Don’t ever
Of, or anything ung D TUDE to be ashamed

1';1 ‘having tog undignified, to grumble about

> 21 Must at you w -
helping 4 Uy to rem embor ould choose,
People p, Produce the (1 that you are
""g yeed; you are ‘do.thmgs that other
You are (00 Part in the w5 YOUur bit’ and
tiny whee) . Wheel, e‘,enw.?:k of the world.
trade gnq »inln € great wl it
WLk rovs i USHTY that 1y gy chinery of
milliong of .8 for always busily at
of pec 1 the ants sty a
Questions . Pi® ... of hundreds of
(a) Whatis'th )
People hgy, 2Mmon
(b) y do mosgt ... : )
pebple
- 7T Workp

ad» everybody would be rich. .
Very great mistake, because -

is only a very "
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(c) Is it right that if all the money in the
world were equally divided, everybody
would be rich?

(d) " How much would each person get if all
the money were equally shared among
" all, according to 1935 statistics?

(e) What should you do if the work is not
exactly the kind that you would choose?

() What would be the title of the passage?

{g) To what object is man compared in the
. great world-machinery of trade and

industry?

Make a précis of the following in about a
third of its original length and add a suitable
title to it : '

One great defect of our civilization is that it
does not know what to do with its knowledge.
Science, as we have seen, has given- us
powers fit for the Gods, yet we use them like
small children. For example, we do not know
how to manage our machines. Machines
were made to be man’s servants; yet he has
grown so dependent on them that they are in
a fair way to become his masters. Already
most men spend most of their lives looking
after and waiting upon machines. And the
machines are very stern masters. They must
be fed witt} coal, and given petrol to drink,
and oil to wash with, and must be kept at the
right temperature. And if they do not get
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- BToW sulky and refy

they expect them, they
Se to work, or burst with

Answer any two of the following questions

de . . UP, and spread ruin and 4. -
Wa?:r:l;;t;:,nthau round them. So we have to , 5x2=10
that we can tznll(eVery attentively and do all ' (@) What are the basic features of good
Already we fing iteg-them In a good temper. ‘qnote-making’? How is it different from
Play without the manrcvit either to work or - ‘note-taking’?. | . 4+1=5

. € machines . .
-come wheén the will » and a time may ° - : .
w y rule ] What is a ‘memo’ What are its uses?
a us t a
S We rule the animajs, altogether, jus (b) a 305

(c) You being the Branch Manager of a
bank, write a memo to your office staff,

5 . UNiT—7j . directing them to be regular and
© (@) }VlVrlte aletter to 4 friend, tel); n | ‘punctual in their attendance. . 5
ow > telling him/her
you spent your summergvaca éon. 10
‘ Or N .
o ter to th _— g UNIT—IV
Police € Superint f oo
Rim/ heg‘za;ﬁ-;) of your city ie:fgizfirfg ! . '
your locality € frequent traffie jams in | 5. Answer any oné of the following : 10
s re : . i .
€ some necesSar?,u:;s:ng him/her to l (a) What is creport writing’? What are the
- () Write an applicat asures | qualities of a good report? 2+8=10
uni on to the P B ‘1 ’
e:éﬁr C§>llege, Pplying for tr}il;mpal ofa J (b) Write a report on the Freshers’ Social
°T'in English, along with Postofa - ) Celebration, 2012 held in your college.
or your Cv. lof (Use X for the name of your college.) 10
Write a £, ' r‘ : report on th i
al letter . (c) Prepare a rep e road accident
;he NEIST, orhat at;{.the Directoy of that took plac.:e bet\fveen a truck and a
or a groy ’ SSXING bermise private car, in which two of the car
e S of student Ssion , . o
Institution, S to gt | passengers died on the s 10
ou he the | pot.
convener. Mg the spyq ent ] '
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6> Answer any one of the following :

(@ Wh
par:;:'a"eh;he characteristics of a good
: PN? What are the basic steps”

| Involved in developing a paragraph?_ __
(). Wri 5+%1
' ¢ I'lte a ar . |
~ -given beloI:v :agraph from the outline
Nam, ' '
why i,ouofhkyquf favourite festival—
it is celel‘)ratZdltfwhen it is held—how
conclusion —Iits social importance— |
(¢) Write '
v eoa ; .
topic : Paragraph on the following
‘A Raj_ny Day,
UNIT—v

i
i

t of the educational |

evelopm
- Income irf Igs and facilities of job and
AT Gg—er cities in India :
s e L ) Education Job and
| - Income___| |
: —246% | g7.8% (n
——digaghy 87:6% 90-9%
Shigaliysg . 68-19; J00%
PO 2 6-39
Xl:tfn? few, oo — ;2 :‘;
- Infory,,. . S€Nteng, ==
. THatign ,.n:es. on the basis of -
MP13—50*/6 I the chart.
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i

(7)
(b) Answer the questions that follow
collecting information from the graph
given below :

World Populdtion in Billions

O = N & b»H G O

(iii)
(v)
(v).

1850 1900 1950 1990 2000

. Questions : _
i) When was the world population
“highest?
(i) When was the population least? 1

During which period did the
greatest rise in population take
place? ‘ - 1

When was the difference least? 1

Is the population scale rising or
falling? 1

i

(c)
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Look at the given pie chart. It tells us
about the nature of disease causing
death in men/women from 30 to
59 years, in 2005, in India. Write a fe¥



(8) |

i i ation
sentences on the basls of inform ‘
you collect from the chart : ‘

i, 2005
Estimated deaths by cause, 30-59 years, India, ‘

Injuries
17%

Cardiovascular
Disease
25%

Communicable,
Maternal ang
Perinata,
Nutritiona]
Deﬁciency
30%

Chronic Respiratory
Disease
9%,

Other Chronic 2%
Diseases
8%

(@ Look at the Photograph given below and 5}
Write g Paragraph op it -

X

* % *
MP13—50%/6



